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Plane A:

Since plane A passes through the origin, one option is to move the origin one unit in the positive x direction.
X = -1, y = ½, z = ¾

1/x = -1, y = 2, z = 4/3
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Plane B:

X = -1/4, y = ¼, z = infinity

1/x = -4, y = 4, z = 0
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Plane C:

X = 2, y = 3/2, z = 1

1/x = 1/2, y = 2/3, z = 1

(3 4 6)
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Figure 3-52_Directions in a hexagonal lattice for
Problem 3.55.




A:
            
1  [image: image6.png]


   0 – 0 0 0 = [1 [image: image7.png]


    0]
Using the equations below:

u = 1/3 (2U-V) 

v = 1/3 (2V-U)

t = -1/3 (U+V) 

w = W
u = 1, v = -1, t = 0, w = 0

[image: image8.png][ 1700]




B:

1 1 0 – 0 0 1 =   [image: image9.png][117]




u = 1/3, v = 1/3, t = -2/3, w = -1
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C:

0 1 1 – 0 0 0 = 0 1 1

u = -1/3, v = 2/3, t = -1/3, w = 1
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Figure 3-53 Directions in a hexagonal lattice for
Problem 3.56.




Direction A:
0  1  1 -  1/2  1  0  =      [image: image13.png]01
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Using the equations below:

u = 1/3 (2U-V) 

v = 1/3 (2V-U)

t = -1/3 (U+V) 

w = W
u = 1/3 , v = -2/3 , t = 1/3, w = 1
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Direction B:
1 0 0 – 1 1 1 = 0 -1 -1
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u = 1/3 
v = -2/3

t = 1/3

w = -1
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Direction C:

[image: image1.png]3:54 Determine the indices for the planes in the cubic
unit cell shown in Figure 3-51




0,0,0 – 0, -1, 1 =     
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